I—26

O - CHTOmAAERIZoL) T
RIKE  I95F ER A% %
ZEBTERASY EE  AREE

1.8 &

6~ 1 RS NS O~ CRIOERER LB 2 28
PATEREY | f%&%&rﬁg% 2T, LELF—HIC
L BEFHEE RorEuger , T 2006
5, LEBLCE, BRNESEOTAMDEUNCLSE #7
TRILE— B OARIH L ifRE 52, BA (H-1
FHEROTIZ3. LD L, ZOTR UK - DBEGEI AT IRBE XX O ELNS O T, Adf
UL, ZOIBOBENTH L Simpson D AEAREHOL YBRBGTE L, iy LK AT~2
EOTHD,

2 48 F.

D) TR T, i) BEIMRRTC-RIATL TUSEOL TS, v AR
BORIEC BT, INTO TIPS 135 L, BENRIIEOKIEUCE )L, 7~ FiZishky
AOAHNE L, G SEEALEFE— A 2 F L EL TG i) BESE UL DAKEE (DR
BALLER TS, V) BAORCS, T—FRUMBKASEIraOtor 3, Vo rdkm
BIE L7 70 Epous BEE Flcl L, ElcSeCX TEREMNBENL TS, EA Ak, LELT
YKFROTSEHY TS, ‘ V

3.5 B R

TREDBIBNEE —% , Eluy U, I=IctIu LEL ¥, O-CRPREAPEE LET /50 A L
ICHS BTRIFATEN Hr (&, Hr=0lk EL/[? TEH2BI0ES, 2L L, ok ; BERE,

L 4M BEAK I OMUIC L 3R T > 2 ¢ LT~ B=AN0+ATE
+ AsT® AL, e Pilager &, Ai=2 (1+27/m%) , Ae=8(1+2.7/nf), As=21. 1 &
B3, '

EEL, n=f/1, 0=4mflfU-£)+ok /@ , t=1c/1, P=BAIYVELL
m; EEREOSER, T 71X, B Piiov 7%, Aw, FARIETER
A 18R8E, o A=HL/EL (H&, TREfokRED ) '
G A, Az, A3 (oL ABETHEL Ay G &HR AtoNE- 2765, £=1.00%
BicdBn FHE R I EEL A TP-0k ¢ (-3 012L3 Y, Fliasr nidifgE M 2%
EE B BAA DT, W@ T3t BEER 57T

E~4,5@, n=02;t=01,Nn=02; £=0208, J§ &F%Y | T&EHEL AL
DTHD, TACLDY, £=0.171&,%nfBd]P #9200 T, M=1,2,-5M 12Hk>%&
8500k TP GG ST T ek 0 PRsRI=L ), IR #9260 E T, M= @M&ft@:
1) Pflager ; Stahlbaw , [0/1951 . 20 ¥# B ; o- chToAL (HEILA)

_85__




FU5Z 5N, £=0.2KETIE, M= | 0 AR L7 THS. B—6, T, £=0.2,

£=0.60% AlAlA T T |
e |9 95
20} =14
— 3of
X =92 T BeeA
DI ol 201 1°F
s, 2, | :
T 0
x~8, 9& T2 7 i 58 7 855 o 700 400 600 800__1000 1200
n=0.125, (®-2) (X-3)
~ I
n=0.15o j// y |
-, 600 n=0.1 ! - 600[———"N=0.1 4 —
BN LEN t=01 0, = Ol t=0.2 | S A a—
_ N aﬂ ’s 2\ /// i -
IA~F =Y . /@// 8 !
400 - 7 40!
L &85 IE
e 6 3
~olk HIRE # /
- 200 2L 5 . L m=2
79 % 200 7
/// 4 //
y 3 s |
0 0 1c|>o 200 300
100 &
(-5
‘ I
t=02 =06 (\/,0*
600 600[
dh O(k / r\:O.\ZB |
450 450 |
/ n=015
300 / 300 / g= n=0175
= p—
150 % 150 ».% ]
0 o ‘
0 100 200 300 400 — 500 0 100 200 300 400,500
(®-6) =2 (-7 e
500 } 400 \
o n=0125 o n=015
N i
400 / //
/ 300 = i ]
300
? é :(:0.8 . 200 /Zt=0.8
200 / t=04
it:o.z
=01 100 —]
1
/ f /
° ] ] 0 (1)0 00
0 100 200 300 400 0 200 3 4
(@-8> o (8-9 ) =

_864



